P 2L d https://lwww.pass2lead.com/dea-5tt1l.html
ass ea 2024 Latest pass2lead DEA-5TT1 PDF and VCE dumps Download

https://Pass2Lead.com

DEA-5TT198As

Associate - Networking Exam

Pass EMC DEA-5TT1 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass2lead.com/dea-5tt1.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

DEA-5TT1 PDF Dumps | DEA-5TT1 VCE Dumps | DEA-5TT1 Study Guide 1/3


https://www.pass2lead.com/dea-5tt1.html
https://www.pass2lead.com/dea-5tt1.html
https://www.pass2lead.com/dea-5tt1.html

P 2L d https://lwww.pass2lead.com/dea-5tt1l.html
ass ea 2024 Latest pass2lead DEA-5TT1 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

Which BASE-T Ethernet standard specifies a CAT6 cable type?
A. 2.5GBASE-T

B. 5GBASE-T

C. 10BASE-T

D. 10GBASE-T

Correct Answer: D

QUESTION 2

When configuring a switch, which CLI mode only supports limited show commands?
A. EXEC

B. Maintenance

C. Configuration

D. EXEC Privilege

Correct Answer: A

Reference: https://www.dell.com/support/manuals/us/en/04/poweredge-fx2/dell%20fn%20i0a% 20config_9.8.0.0_pub-
vl/cli-modes?guid=guid-aeb7d44d-2413-4da8-b8b9-2f8a26bad435andlang=en-us

QUESTION 3

On which Dell EMC Networking switches can Multi-Chassis Link Aggregation (MLAG) be configured?
A. C9000 Series

B. N-Series

C. S-Series

D. Z-Series

Correct Answer: B

QUESTION 4

DRAG DROP
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What is the correct sequence of steps when a web browser accesses a web server?

Select and Place:

Step 1
Step 2
Step 3
Step 4
Correct Answer:
\
QUESTION 5

At which layer of the OSI model is the Rapid Spanning Tree protocol used to prevent switching loops?
A. Physical

B. Network

C. Data Link

D. Transport

Correct Answer: C
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